	____ 1.	The dura mater is a(n) 


	A)	inner layer of connective tissue. 	D)	inner layer of muscle. 


	B)	middle layer of connective tissue. 	E)	outer layer of muscle. 


	C)	outer layer of connective tissue. 








	____ 2.	Select the incorrect association. 


	A)	arachnoid mater/meninges 	D)	nerves/PNS 


	B)	brain/PNS 	E)	pia mater/meninges 


	C)	dura mater/meninges 








	____ 3.	The ANS is part of the 


	A)	CNS and controls involuntary functions. 


	B)	CNS and controls voluntary functions. 


	C)	PNS and controls involuntary functions. 


	D)	PNS and controls voluntary functions. 


	E)	sensors that monitor stimuli. 








	____ 4.	The term "efferent" refers to _________ neurons. 


	A)	afferent    B)  association    C)  internuncial    D)  motor    E)  receptor 








	____ 5.	Terminal boutons are part of the ________ of a neuron. 


	A)	axon    B)  cell    C)  dendrite    D)  myelin sheath    E)  node 








	____ 6.	The membrane of the Schwann cell is about ________ percent lipid. 


	A)	20    B)  35    C)  50    D)  70    E)  80 








	____ 7.	Multiple sclerosis develops by the destruction of the 


	A)	myelin sheath. 	D)	synapses. 


	B)	neurotransmitter. 	E)	ventricles. 


	C)	receptors. 








	____ 8.	A stroke is a _________ accident. 


	A)	vascular    B)  cerebrovascular    C)  dendritic    D)  glial    E)  hypoglycemic 








	____ 9.	Neurons cannot generate _______ by fermentation in the absence of oxygen. 


	A)	ATP 	D)	hydrogen ions 


	B)	carbon monoxide 	E)	oxygen 


	C)	ferrodoxin 








	____ 10.	The resting membrane potential of a neuron is about ________ millivolts. 


	A)	+20    B)  +50    C)  –20    D)  –70    E)  –110 








	____ 11.	A neuron starts to fire an impulse by the influx of _________ ions. 


	A)	calcium    B)  chloride    C)  iron    D)  potassium    E)  sodium 








	____ 12.	A neuron repolarizes by the outflux of __________ ions. 


	A)	calcium    B)  chloride    C)  iron    D)  potassium    E)  sodium 








	____ 13.	The nodes of Ranvier are interruptions in the 


	A)	axon cytoplasm. 	D)	number of receptor cells. 


	B)	dendritic endings. 	E)	synaptic junctions. 


	C)	myelin sheath. 








	____ 14.	A myelinated neuron can send impulses as rapidly as ________ miles per hour. 


	A)	400    B)  800    C)  1200    D)  1600    E)  2000 








	____ 15.	A synapse involves each of the following except the 


	A)	glial cell covering. 	D)	synaptic cleft. 


	B)	postsynaptic membrane. 	E)	terminal bouton. 


	C)	presynaptic membrane. 








	____ 16.	The exocytosis of a neurotransmitter is stimulated by ________ ions. 


	A)	calcium    B)  copper    C)  iron    D)  potassium    E)  sodium 








	____ 17.	An inhibitory synapse affects a nerve cell by increasing its permeability to _________ ions. 


	A)	calcium    B)  chloride    C)  iron    D)  sodium    E)  zinc 








	____ 18.	Transmission across the synapse requires about _________ second. 


	A)	1/1000    B)  1/100    C)  1/10    D)  1/5    E)  1/2 








	____ 19.	The main neurotransmitter that excites skeletal muscles is 


	A)	acetylcholine. 	D)	GABA. 


	B)	dopamine. 	E)	norepinephrine. 


	C)	epinephrine. 








	____ 20.	An anesthetic may affect the permeability of ________ ions for a neuron. 


	A)	calcium    B)  chloride    C)  iodide    D)  iron    E)  sodium 








	____ 21.	A functional classification of neurons recognizes _________ different categories. 


	A)	2    B)  3    C)  4    D)  8    E)  10 








	____ 22.	Interneurons make up about ________ percent of all neurons of the nervous system. 


	A)	10    B)  25    C)  50    D)  75    E)  99 








	____ 23.	The cauda equina is a group of 


	A)	cranial nerves. 	D)	spinal nerves. 


	B)	meninges. 	E)	synapses. 


	C)	nerve coverings. 








	____ 24.	There are _________ pairs of cranial nerves. 


	A)	10    B)  12    C)  15    D)  20    E)  30 








	____ 25.	Select the incorrect association. 


	A)	gray matter/interneurons 	D)	ventricles/brain 


	B)	trigeminal/cranial nerve 	E)	white matter/myelination 


	C)	ventral root/sensory neuron 








	____ 26.	The largest part of the brain is the 


	A)	cerebellum. 	D)	medulla. 


	B)	cerebrum. 	E)	thalamus. 


	C)	hypothalamus. 








	____ 27.	The coordination of skeletal muscle contraction is performed mainly by the 


	A)	cerebellum. 	D)	thalamus. 


	B)	hypothalamus. 	E)	ventricles. 


	C)	medulla. 








	____ 28.	The hypothalamus performs each of the following functions except 


	A)	blood pressure control. 	D)	sexual activity. 


	B)	body temperature control. 	E)	water balance. 


	C)	circulation of CSF. 








	____ 29.	Each lateral ventricle is found inside the 


	A)	cerebellum. 	D)	reticular activating center. 


	B)	cerebral hemisphere. 	E)	thalamus. 


	C)	hypothalamus. 








	____ 30.	The ANS sends motor signals to each of the following except 


	A)	cardiac muscle. 	D)	skeletal muscle. 


	B)	glands. 	E)	smooth muscle. 


	C)	heart. 








	____ 31.	The arachnoid mater is a middle covering. 


	A)	True   B)  False








	____ 32.	Sensory impulses travel away from the CNS. 


	A)	True   B)  False








	____ 33.	The somatic nervous system controls voluntary functions. 


	A)	True   B)  False








	____ 34.	Afferent neurons send impulses toward the CNS. 


	A)	True   B)  False








	____ 35.	A neuron normally sends its impulse from its axon to dendrites. 


	A)	True   B)  False








	____ 36.	A multipolar neuron contains many axons. 


	A)	True   B)  False








	____ 37.	A glial cell is specialized to send a signal. 


	A)	True   B)  False








	____ 38.	Myelination with nodes on a neuron increases its speed of impulse transmission. 


	A)	True   B)  False








	____ 39.	Vision may become blurred in a person with diabetes mellitus. 


	A)	True   B)  False








	____ 40.	The nerve impulse is a bioelectric impulse. 


	A)	True   B)  False








	____ 41.	A neuron pumps sodium ions to the region outside the cell by active transport. 


	A)	True   B)  False








	____ 42.	Repolarization of a neuron depends on its increased permeability to potassium ions. 


	A)	True   B)  False








	____ 43.	Synaptic transmission is normally from a postsynaptic neuron to a presynaptic neuron. 


	A)	True   B)  False








	____ 44.	An excitatory neuron depolarizes a postsynaptic neuron. 


	A)	True   B)  False








	____ 45.	After its release, a neurotransmitter can be destroyed enzymatically. 


	A)	True   B)  False








	____ 46.	Caffeine blocks synaptic transmission. 


	A)	True   B)  False








	____ 47.	Cocaine increases the rate of uptake of neurotransmitters. 


	A)	True   B)  False








	____ 48.	The dorsal root of a spinal nerve contains sensory neurons. 


	A)	True   B)  False








	____ 49.	The white matter of the spinal matter is covered by gray matter on the outside. 


	A)	True   B)  False








	____ 50.	Interneurons are located synaptically between sensory and motor neurons. 


	A)	True   B)  False








	____ 51.	The cerebral cortex is the thin, outer layer of the cerebrum. 


	A)	True   B)  False








	____ 52.	Basal ganglia consist of white matter. 


	A)	True   B)  False








	____ 53.	The premotor cortex coordinates skeletal muscle activity. 


	A)	True   B)  False








	____ 54.	For a coordinated motion, the triceps muscle relaxes when the biceps muscle contracts. 


	A)	True   B)  False








	____ 55.	The thalamus functions as a relay center. 


	A)	True   B)  False








	____ 56.	The RAS is mainly involved in the storage of memory. 


	A)	True   B)  False








	____ 57.	In hydrocephaly, the CSF is lost from the ventricles and exits from the body. 


	A)	True   B)  False








	____ 58.	Epilepsy is characterized by periodic seizures. 


	A)	True   B)  False








	____ 59.	The parasympathetic division of the ANS increases heart rate. 


	A)	True   B)  False








	____ 60.	The sympathetic division of the ANS dilates the pupils. 


	A)	True   B)  False








	61.	The ________ is the layer of the meninges closest to the brain. 








	62.	Efferent neurons are ________ neurons. 








	63.	The ________ of a neuron contains most of the cell's cytoplasm. 








	64.	A _________ neuron has a single process. 








	65.	A Schwann cell is one kind of _________ cell. 








	66.	Urgent types of information are usually signaled through neurons covered with _________. 








	67.	If too much insulin is taken by a diabetic,  the level of glucose in the blood _________. 








	68.	At rest, a neuron has a charge that is _________ on the outside. 








	69.	When a neuron depolarizes, it produces an action __________. 








	70.	A(n) _________ is a region between two consecutive neurons. 








	71.	An insecticide inhibits the removal of a(n) ___________. 








	72.	The gray matter of the spinal cord has a shape similar to the letter ________. 








	73.	The _________ is the second largest structure of the brain. 








	74.	For instinctive behavior, the _________ works along with the hypothalamus. 








	75.	Memory can be ________ term or _______ term. 








	76.	Outline how a reflex develops in the body. 








	77.	How does the presence of myelination with nodes increase the signal sending of a neuron? 








	78.	How does the signal transmission differ at the synapse compared to along the neuron? 








	79.	What is the relationship between the sympathetic and parasympathetic divisions of the ANS? 








	80.	Match each term on the left to an appropriate association on the right.


		


			____ frontal lobe	A. primary motor cortex


		


			____ occipital lobe	B. sensory area for vision


		


			____ parietal lobe	C. sensory area for hearing


		


			____ temporal lobe	D. primary sensory cortex 
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	1.	C	





	2.	B	





	3.	C	





	4.	D	





	5.	A	





	6.	E	





	7.	A	





	8.	B	





	9.	A	





	10.	D	





	11.	E	





	12.	D	





	13.	C	





	14.	A	





	15.	A	





	16.	A	





	17.	B	





	18.	A	





	19.	A	





	20.	E	





	21.	B	





	22.	E	





	23.	D	





	24.	B	





	25.	C	





	26.	B	





	27.	A	





	28.	C	





	29.	B	





	30.	D	





	31.	A	





	32.	B	





	33.	A	





	34.	A	





	35.	B	





	36.	B	





	37.	B	





	38.	A	





	39.	A	





	40.	A	





	41.	A	





	42.	A	





	43.	B	





	44.	A	





	45.	A	





	46.	B	





	47.	B	





	48.	A	





	49.	B	





	50.	A	





	51.	A	





	52.	B	





	53.	A	





	54.	A	





	55.	A	





	56.	B	





	57.	B	





	58.	A	





	59.	B	





	60.	A	





	61.	pia mater 





	62.	motor 





	63.	cell body 





	64.	unipolar 





	65.	glial 





	66.	myelin 





	67.	decreases 





	68.	positive 





	69.	potential 





	70.	synapse 





	71.	neurotransmitter (acetylcholine) 





	72.	H 





	73.	cerebellum 





	74.	limbic system 





	75.	long, short 





	76.	A stimulus excites a sensor cell that sends an impulse through a sensory neuron.  This neuron sends a signal to the CNS, synapsing with an internuncial neuron, which sends a signal across a synapse to a motor neuron.  This neuron sends a signal away from the CNS to an organ that makes a response, such as the quadriceps muscle for the knee jerk. 





	77.	Ions cannot move across the neuron where it is covered with myelin.  They can only depolarize a neuron at the node.  Therefore, the impulse jumps from node to node and increases the rate of transmission. 





	78.	Along the neuron, signal transmission is electrical.  At the synapse, it is purely chemical, depending on the release of a neurotransmitter to excite a postsynaptic cell. 





	79.	They have opposing effects on the activity of the organ they signal.  For example, the sympathetic increases the rate of heart beat, and the parasympathetic decreases this rate. 





	80.	A, B, D, C
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